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Type some Sage code below and press Evaluate.

1 fix) = (2*x-4)/sin(x~-2)

2 xs = [2.1,1.9,2.03,2.00006,1.999997]
# the above is a list of numbers
ans = [f(b) for b in xs]

show(ans)

show(limit(f(x),x=2))
show(4xlog(2).n())

~OoOOWbm s W

Evaluate

[2.87572898722678, 2.68315001980132, 2.80203704760290, 2.77264637906103, 2.77258583¢
4 log (2)
2.77258872223978
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Type some Sage code below and press Evaluate.

1 gly)=(6xy”2-y-1)/(4xy"2-4%y+1)

2 show(plot(g(y),y,-1,10,ymin=-15, ymax-15))
3 show(limit(g(y),y=1/2))

4 show(limit(g(y),y=00))-

10 A1

3
(_2_,/50;; Qd)gc[aQ LLML+5 o
D Jin
5-0 \ .
Ce) s moaSUe codians = s -




5n0
)
. 1
I odunh
(CW‘ S/Mm
o §//\9<@ (%257[%@
L\ 904«9(0\\64\‘
) .
¢ L 508 L0 = ic(f;‘i
. ) :
Sm@f% K by ST evyhy, O>0
oD ¢ % Sl@ % .
—(—aﬂef % s & 5”\‘9 é Cos ©
& [
( - Sinb Cos ©
H‘P 5
( N, G >C069







